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Algebra – Model No     1 

 Q1   Choose the correct answer: 

(1) A right circular cylinder, its base radius 3 cm , height 5 cm, then 
its volume = ……………… cm2 

a) 15   b) 75  c) 45  d) 
     

 
    

(2)  √     
 

  – √   
 

 = ………….. 

a) 3 √   
 

 b) 2 √   
 

 c) 3 d) 2 

(3) If the ordered pair (2,k) satisfy the relation Y– 2X = 1, then K =... 

a) 0 b) 3 c) 4 d) 5 

(4) The conjugate of  
 

  √     
 = ………… 

a) √     + 2  b)  √    – 2 c) 2 –  √    d) –  √    

(5) If the slope of straight line passes through two points ( 3 , y ) ,  
( 5 , – 2 ) equals – 3 , then Y = ………… 

a) 2  b) 4 c) 6 d) – 30 

(6) The intersection point of ascending and descending cumulative 
frequency curves determines the ……………..…on the set – axis. 

a) Median  b) Mode  c) Mean d) Order of median 

–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) If the lowest boundary of a set is 8 and upper boundary is 12, 
then its center is………………….……… 

2) If  √      =  √      + 1 , then X = …………………. 

3) The mode of the values 4 , 5 , 6 , 8 , 7 is ……………. 

4)   √      , √      √       √       , ………….. complete same pattern 

5) If the median of  a+2 , a+5, a+1, a+4, a+3 is 10, then a = ……  
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 Q3   

A)   Find in R the solution set of: 

   4 < 3 x + 1 < 10    ( 2 X – 3 )3 = 125 

––––––––––––––––––––––––––––––––––––– 

B)  If volume of sphere 36  cm3. Find the surface area in term of ? 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)   Represent graphically the relation:  Y = 3 – 2 X 

––––––––––––––––––––––––––––––––––––– 

B)   If X = 
  √       √       

√        √     
 , prove that:  X + 

     

 
 = 22 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)  Simplify to the simplest form: 

5  √      + 2  √       – 3  √       – 6 √
     

 
 

––––––––––––––––––––––––––––––––––––– 
B) The following table represents the frequency distribution of 

overtime pay for 30 workers 

Set 15– 25– 35– X– 55– 65– 75– Total  
Frequency 2 K +1 5 8 6 4 2 30 

 find:  Value of X , K   The arithmetic mean 

 
End of the questions 
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Algebra – Model No     2 

 Q1   Choose the correct answer: 

(1) The volume of cuboid whose dimensions √   , √   , √   = … cm3 

a) 6 b) 36 c) 6 √   d) 18 √   

(2) [ –3 ,4 ]  * 2 , 6 + = …….. 
a) [ –3 ,6 ] b) [ –3 , 2 ] c) [ 4 , 6 ] d) [ 2 , 4 ] 
(3) If the ordered pair (5,2) satisfy the relation X+2Y=K, then K =…… 

a) 8 b) 9 c) 7 d) 6 

(4) If four times number is 48, then third this number is ………… 

a) 2 b) 4 c) 6 d) 8 

(5) If the slope of straight line passes through two points (–3 , X ) , 
 (–1 , 1 )  equals 2, then X =  

a) 2 b) 4 c) 6 d) – 30 

(6) If the ordered of the median is fourth value, then number of 
these values is ………………. 

a) 6  b) 7 c) 8 d) 9 
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) If the lowest boundary of a set is 10 and upper boundary is 30, 
then its center is………………….……… 

2) If X  [ – 3 , 2 ] , then X2  ………………… 

3) If the mode of the values  4 , 3 , X+2 , 9 , 7  is 4 , then X = ……. 

4) If the X is even number, then the next even number to it is ….. 

5) The intersection point of ascending and descending cumulative 
frequency curves is ( 50 , 132 ) then the median is …………. 



 

4 

 

 Q3   
A) Find in R the solution set of the inequality then represents the 

solution on the number line: 
     

√        √     
     √       √      

––––––––––––––––––––––––––––––––––––– 
B)  A piece of paper has shape of rectangle ABCD, BC = 44 cm,  

AB = 10 cm.  If it was folded to form a right circular cylinder such 
that   ̅̅ ̅̅  is coincide on   ̅̅ ̅̅ . Find the volume of resulted cylinder?  

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A) Represents graphically the straight line which represents the 
relation 2X + 3Y = 6, if it cut X-axis at point A, cut Y-axis at  

point B. find the area of  OAB where O is origin point 
––––––––––––––––––––––––––––––––––––– 

B)  If 
     

 
 =  √      – √      , find the value of 

         

   
. 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   
A)   Simplify to the simplest form: 

 √      
 

 – 3 √
     

 

 
  + √     

 
 – √     

 
 

––––––––––––––––––––––––––––––––––––– 
B) Find the arithmetic mean for the following frequency distribution: 

Wages 10– 20– 30– 40– 50– Total  

No. of worker 3 4 6 5 2 20 

 
End of the questions 
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Algebra – Model No     3 

 Q1   Choose the correct answer: 

(1) The irrational number included between 2 , 3 is ………. 

a)  √         b) √        c) √        d) 2.5 

(2) The volume of sphere of diameter 1 cm is ……………cm3 

a)  
     

 
   b) 

     

 
  c)  

     

 
  d) 

     

 
   

(3) If ordered pair (1,–2) satisfies the relation 5X+bY=17, then b =….. 

a) – 6  b) – 4 c) 4 d) 6 

(4) 
 √ 

     

 
    + √ 

     

 
   = ……………. 

a) 1 b) 2 √      c)   √ 
     

 
     d)  √      

(5) If n  Z+ ,  n <  √         < n + 1 , then n = …………… 

a) – 3 b) 3 c) 4 d) 10 

(6) If the arithmetic mean for five values is 12, then the sum of 
these values = …………….. 

a) 30  b) 50 c) 60 d) 120 
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) The slope of straight line parallel to X-axis equals …………… 

2) [ –3 , 2 ] – ] –3 , 2 * = ………….. 

3) The median of the values 34 , 23 , 25 , 40 , 22 , 4 is …………….. 

4)  If the mode of the values 5 , 7 , 8 , X2 is 8, then 3 X = ……….. 

5) The sum of all real numbers in [ – 80 , 80 + = ……………… 
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 Q3   

A)   If  X = √       +  √       , X Y = 2. Find the value of 
        

   
  

––––––––––––––––––––––––––––––––––––– 

B)  The volume of right circular cylinder is 72  cm3, its height equals 

to its base radius. Find the height of the cylinder 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)  Find the value of m which make the points ( 4 , - 3 ) , ( m , 7 ) , 

( 5 , –4 ) are collinear. 

––––––––––––––––––––––––––––––––––––– 
B) Find in R the solution set of the inequality then represents the 

solution on the number line: 
         

 
  <  X + 1 < 

         

 
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)   Simplify to the simplest form: 

 √       +  2 √      
 

 –  √        +  3 √      
 

 
––––––––––––––––––––––––––––––––––––– 

B)  Find the arithmetic mean for the following frequency distribution: 

Wages 4– 8– 12– 16– 20– Total  
No. of worker 12 4 8 6 4 20 

 
End of the questions 
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Algebra – Model No     4 

 Q1   Choose the correct answer: 

(1)  √  √      
 

  = …………….. 

a) √      b)  2  √      c) 3  √      d) 5  √      

(2) R – Q\ = ………………..……… 
a) N b) Z c) Z + d) Q 
(3) The slope of the straight line passes through (3 , 0) and (5 , –1) is 

a) –2 b) 2 c) 
       

 
  d) – 

       

 
 

(4) If ( 2 , 1 ) satisfies the relation a X – Y = 3 , then a = ………………..… 

a) 2 b) 1 c) – 1 d) – 2 

(5) The mean of the values  3 , 4 , 5 , 6 , 7 is………………..……… 

a) 3 b) 5 c) 6 d) – 5 

(6) If     1  ] – 3 , X [ , then X = ………………..……… 

a) –1 b) 2 c) Zero d) 1 
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) If X  Z – , X2 = 3 , then ( X +  √      )2 = ………………… 

2) If  – 2 < X < 2, then  2 X + 3  the interval ………………..……… 

3) If X2 = 5, then (X+ √  )2 = ………………..………or ………………..……… 

4) The order of the median of frequency distribution is 40, then the 

total of frequency is ………..……… 

5) The mode of the values:  3, 5, 7 , 5 ,6 is………………..…… 
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 Q3   

A)    Find the value in the simplest form: 

√           √
        

 

 

 √         √       
 

 

––––––––––––––––––––––––––––––––––––– 
B)  A right circular cylinder its height is 20 cm, find its base radius 

length if its volume =  
      

 
 the volume of a sphere its radius length 

15 cm. 
––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A) Find in R the S.S of the equation: 

√        X + 1 = 6 , then represent it on the number line. 

––––––––––––––––––––––––––––––––––––– 

B)   If X = 2 + √       , Y = 
 

    √     
 . Find the Value of: 

        

     
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   
A)   Represent graphically the relation: 2 X – Y = 3 

––––––––––––––––––––––––––––––––––––– 
B) The following table shows the frequency distribution of the weekly 

wages of 50 workers in a factory: 

Sets 5– 15– 25– 35– 45– Sum 

Frequency 7 10 12 13 8 50 

Find in pounds the arithmetic mean for the worker's wages? 

 
End of the questions 
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Algebra – Model No     5 

 Q1   Choose the correct answer: 

(1) If X  [ – 2 , 2 ] , then X2  ………….. 
a) { 4 } b) ] 0 , 4 [ c) [ 0 , 4 ] d) [ – 4 , 4 ] 

(2) The multiplicative inverse of (√  – 2) is ……………. 

a) √      – 2 b) 2 – √      c) √      + 2 d) – √      – 2 

(3) The S.S of the inequality  –2 X    6 the interval .........  

a) [ 3 ,  [ b) ] 3 ,  [ c) ] –  , 3 [ d) ] – , –3 ] 

(4) If the upper boundary of a set is 30 , its length 10 then its center 
is…………. 

a) 35 b) 25 c) 15 d) 20 

(5) The slope of the straight line passing through (3,2) , ( 1,3) is 

a) –2 b) 2 c) – 
      

 
  d) 

         

 
  

(6) The S.S of the equation √      X = 4 in R is { .........} 

a) 4 √    b) –2 √    c) 2 √    d) √     
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) If the lowest boundary of  a set is 4 and its center is 9, then the 
upper boundary is…..……… 
 

2) The slope of straight line which is parallel to Y- axis is……..…… 

3) If  X  Z, number where   X < – √  
 

 < X + 1 , then X = ……… 

4) If m (15 , 30) is the point of intersection for the two cumulative 
ascending and descending curve, then the median is…………..……… 

 

5) A Cuboid its base area is 5 √      cm2, its height is 3√   cm, then its 
volume = ………..…… 
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 Q3   

A)    If X = 2 + √       , y = 
     

 
 , find in simplest form without using 

calculator the value of  X y – y2  
––––––––––––––––––––––––––––––––––––– 

B)  Represent graphically the relation y = 2 – 2 X , if this straight line 
passing through the point ( 4 , 2 a ) Find the value of a. 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)  A metallic sphere with diameter 6 cm , its melted and convert to 
an circular cylinder its base radius is 3 cm. Find the height of the 
cylinder and its lateral area 

––––––––––––––––––––––––––––––––––––– 
B)  Without using calculator, find in simplest form: 

√          √     
 

  
  

√        
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)  If  [ a – 3 , a + b ] is solution of  2  X + 1  8, find the value of AB 

––––––––––––––––––––––––––––––––––––– 
B)  The following table shows the frequency distribution of the marks 

for 50 students in math test: 

Sets 10 – 20 – 30 – 40 – 50– Sum 
Frequency 8 12 2k 9 k 50 

Find:   Value of  K   The asthmatic mean 

 
End of the questions 
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Algebra – Model No     6 

 Q1   Choose the correct answer: 

(1) ( 3 , 2 ) didn’t satisfy the relation ……………….…… 

a) X + Y =5 b) 3 Y – X =3 c) X + Y = 7 d) Y – X = 1 

(2) The multiplicative inverse of 
  √       

 
 is ...................... 

a) √         b)  3  √      c) 2  √      d) √        

(3) If A – B = 3 √      , A + B = √      , then A = ...................... 

a) 4 √    b) 3 √    c) √        d) 2 √      

(4) If the slope of straight line  a X + b Y + c = 0 is undefined then…... 

a) a = b b) a = 0 c) b = 0 d) a = – b 

(5) If the mode of the values 4 , 5, a –2 , 3 is 3 , then a = ….....  

a) 2 b) 3 c) 4 d) 5 

(6) [ 1 , 2 ]  ] 2 , 5 ] = ............... 

a)  b) {2} c) {0} d) { 1 , 5 } 

–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1)  If X  R + , X > X2 , then X  + ……. , ………… * 

2) If the surface area of sphere = 9  cm2, then its diameter =………. 

3) If (√     + √      ) (√      – √      ) = 8 , then x =............ 

4) If the point ( 2 , a ) satisfy the relation 3X + y = 8 , then a =......   

5) If √   
 

 = √     then X = .............  
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 Q3   

A)  Represent graphically the relation y = 4 – X , from the graph find 

the intersecting points with two axis. 

––––––––––––––––––––––––––––––––––––– 
B)  Without using calculator, find in simplest form: 

4 √      + 12 √
     

 
    – ( √      )3 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)   Find the solution set for the inequality – 1  3 x + 2  8 in R and 

represent it on the number line. 
––––––––––––––––––––––––––––––––––––– 

B)  A right circular cylinder its height 20 cm, find the length of its base 

radius if its volume equals 
     

 
 volume of sphere with radius 15 cm 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)  If the slope of straight line which passes through the points (3, 3) , 

( K , 5 ) , ( – 1 , m ) equals 2, find the value of K + m 

––––––––––––––––––––––––––––––––––––– 
B)  Find the arithmetic mean for the frequency distribution: 

Sets 10– 20– 30– 40– 50– Sum 
Frequency 3 4 6 5 2 20 

 
End of the questions 
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Algebra – Model No     7 

 Q1   Choose the correct answer: 

(1) [ 5 , 7 ] – { 5 } = ……… 
a) ] 5 , 7 [ b) ] 5 , 7 ] c) [ 5 , 7 [ d) { 6 , 7 } 
(2) √      √    

 
  = ………………..……… 

a) 8 b) Zero c) – 8 d)  8 
(3) The square with side length  √       it's Area= …………..………cm2 

a) 5 b) √   c)    d) 25 

(4) The irrational number lies between   3  ,  4  is …………. 

a) 3.5 b)  
 

 
 c) √        d) √         

(5) The volume of a sphere = 
      

 
  Cm3, its radius length =….. cm 

a) 1 b) 2 c) 
       

 
  d) 

       

 
  

(6) The additive inverse of the number ( 1 – √  ) is ………. 

a) 1 + √  b) 1 – √  c) –1 – √  d) – 1 + √  
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) The intersection point of the ascending and descending 
cumulative frequency curves determines the …on the set – axis. 
 

2) The arithmetic mean of the values: 2 , 6 , 5 , 7 , 10 is ……….. 

3) (√      2 = 7 + ……………..… 

4) The S.S of equation X 3 + 5 = 13 in R is ………. 

5) The order of the median =  
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 Q3   

A)    Find S.S in R in the form of an interval: 

3 < 2 X + 1  11 

––––––––––––––––––––––––––––––––––––– 

B)   Find in the simplest form:   √      √        √
     

 
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)   A right circular cylinder its height is 10 cm, its base radius length  

7 cm.  Find its volume. 

––––––––––––––––––––––––––––––––––––– 

B)   If  X =  √   –  √     , Y =   √   +  √   

Find the Value of:  
     

      
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)  If ( 3 , K ) satisfies the relation  3 X + 2 Y = 7. Find the value of K 

––––––––––––––––––––––––––––––––––––– 
B)  The following table shows the marks of 40 students in one month 

in math. 

Sets 5 – 15 – 25 – 35 – 45 – Sum 

Frequency 7 10 12 13 8 50 

  Find the arithmetic mean for that frequency distribution? 

 
End of the questions 



 

15 

 

Algebra – Model No     8 

 Q1   Choose the correct answer: 

(1) The remainder of subtracting ( – 3 X ) from 3 X equals ……. 

a) Zero b) 6 X c) – 6 X d) – 3 9 X2 

(2) The straight line Y + 2 x = 4 intersect X- axis in point ............. 

a) (0 , 2 ) b) ( 2 , 0 ) c) ( 4 , 0 ) d) ( 0 , 4 ) 

(3) If  √    
 

 = 4 , then x = .............. 

a) 8 b)  8 c) 4 d)  4 

(4) The S.S. in R for the equation X2 – 4 = 0 is..............  

a) {2} b) {–2} c) { 2 , – 2 } d)  

(5) Number of edges of two adjacent faces of  a cube equal............ 

a) 6 b) 7 c) 8 d) 12 

(6)  √       +  √      +  √      = .............. 

a) 5 √      b) √        c) √         d) 15 

–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) The mean for the values a + 1 , a , a – 1 is 6 , then a = .......... 

2) If  X < – √     
 

  < X + 1 , x is an integer number,  then x =  ......   

3) If ( – b , b ) satisfy the relation y + 3 x = 8 , then b =  ............. 

4) The volume of cube = 125 cm3 , then its total area = …....…..cm2 

5) The additive inverse of √     – 2 in simplest form is…..……… 
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 Q3   

A)   Find the value of X : 

X √     
 

 =  2 √      
 

 +  3 √       
 

  + 6 √      
 

 –  6  √  
      

 
  

 
  

––––––––––––––––––––––––––––––––––––– 

B)  If  X = √ 
 

 + 1 , Y =  √ 
 

 – 1 . Find the value of (x + y )3 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A) Represent graphically the relation y = 6 – x , if the straight line 

passing through the  point ( k , 2 k ) find the value of k ? 

––––––––––––––––––––––––––––––––––––– 

B) If X = [ – 1 , 4 ]  , y = [ 3 ,  [ , by using the number line find each of 
the following : 

  X  y    X  y   X – y  

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A) Find the solution set for the inequality in R and represent it on 

the number line: 

– 5  – 2 + 3 X   1. 
––––––––––––––––––––––––––––––––––––– 

B) A right circular cylinder its volume is 40  cm3, its height is 10 cm, 

Find its lateral area in the form by  . 

 
End of the questions 
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Algebra – Model No     9 

 Q1   Choose the correct answer: 

(1) ( 1 – √      )2 + 
     

√     
 = …….. 

a) 2 b) 5 c) – 4 d) 6 

(2) If the lowest boundary of a set is 6 and upper boundary is 10, 
then its center is………………….……… 

a) 4  b) 6 c) 8 d) 16 

(3) The solution set of the equation X2 + 9 = 0 in R is …….. 

a) { – 3 }  b) { 3 , – 3 } c) { – 9 } d)  

(4) If the median for the values: X + 1 , X – 3 , X + 5  is 7, then X = …. 

a) 2  b) 6 c) 7 d) 10 

(5) [ – 2 , 2 ]   Z + = …………. 

a) { 1 , 2 } b) [ 1 , 2 ] c) { 0 , 1 , 2 } d) [ – 2 , 1 ] 

(6)  √        = 4 + ……. 

a) 1 b) 3 c) 4 d) 5 
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1) Slope of straight line passing through A(5,4) , B(–1,1) equals…… 

2) If volume of cube is 3 √      cm3, then sum of its edges = ……. cm  

3) The arithmetic mean for the values: 6 , 4 ,3 , 7 is …………. 

4)  The mode for the values: 5 , 1 , 9 , 4 , 1 is ……………. 

5) If ( 1 , K ) satisfies the relation: 2 X + 3 Y = 1, then K = ….. 
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 Q3   

A)  Find in R the S.S of the inequality and represents the solution on 

the number line: 

1  3 – 2 X  5 
––––––––––––––––––––––––––––––––––––– 

B) If the volume of right circular cylinder is 360 , and its height  
10 cm. find the length of its base radius and calculate its lateral 

area in term of . 
––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)   If X = √       + √      , X Y = 1 

Find the value of the expression:   X2 – 49 Y2 
––––––––––––––––––––––––––––––––––––– 

B)  Simplify to the simplest form: 

√        – √      
 

 + 
    

√     
 + 2 √     

 
 

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A) If the slope of the straight line passing through D ( 4 , 3 ) , E ( 5 , n ) 
equals 3. Find the value of n? 

––––––––––––––––––––––––––––––––––––– 
B)  The following table shows the marks of 15 students in one month 

in math. 

Sets 1 – 3 – 5 – 7 – 9 – Sum 
Frequency 2 3 X 4 1 15 

  Find:  The arithmetic mean    Find value of X 

 
End of the questions 
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Algebra – Model No     10 

 Q1   Choose the correct answer: 

(1) If the edge length of cube is 10 cm, then its total area ……… cm2 

a) 100 b) 400 c) 600 d) 1000 
(2) The median for the values: 1 , 9 , 6 , 8 is ………… 
a) 6 b) 7 c) 8 d) 9 

(3) The additive inverse of 
      

√     
 in the simplest form is ……. 

a) 5  √      b) – 5  √      c)  
√     

  
   d)   

√     

 
   

(4) If the lowest boundary of a set is 3 and its center is 6, then its 
upper boundary is………………….……… 

a) Zero b) 6 c) 9 d) 12 

(5) { 8 , 9 , 10 } – ] 8 , 10 [ = ………….. 

a) { 8 , 10 } b)  c) { 9 } d) N 

(6) If the arithmetic mean for the values: 3 , m , 4 is 5, then m = …… 

a) 2  b) 7 c) 8 d) 15 
–––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 

 Q2   Complete each of the following: 

1)  √      + √       = √     

2) The slope of straight line is perpendicular to Y-axis equals………. 

3) If the median order of a grouped frequency distribution is 10, 
then the sum of the frequencies is ……………. 
 

4) If the mode for the values: X – 3 , X , X – 3 is 3, then X = ……… 

5) If the ordered pair ( –2 , 5 ) satisfies the relation X + K Y = 3, 
then K= ………. 
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 Q3   
A)  Find in R the S.S of the inequality and represents the solution on 

the number line: 

   
    

√      √     
   √      √      

––––––––––––––––––––––––––––––––––––– 

B)  Find the radius length of sphere whose volume 288  cm3, then 

find its surface area in term of  . 
––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q4   

A)   If X = √      – 2 , X Y = 1  
 Prove that:  X , Y are two conjugate numbers 
 The value of: X2 + Y2  

––––––––––––––––––––––––––––––––––––– 
B)  Simplify to its simplest form: 

√      + 
     

√     
 – 10 √  

     

 
   + 2 √      

––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––  

 Q5   

A)  If the slope of the straight line passing through ( 3 X , 5 ) , ( 2 , 4 X) 
equals 5. Find the value of X 

––––––––––––––––––––––––––––––––––––– 
B)  The following table shows the frequency distribution of the marks 

for 40 students in math test: 

Sets 4 – 8 – 12 – 16 – 20– Sum 

Frequency 5 9 X 8 6 40 

Find:   Value of  X   The asthmatic mean 

 
End of the questions 
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Cairo El-Zeitoun Directorate - Language School1
1  Complete each of the following:

1) If 3
7

  × (x) = 3
7

  then x = ................ .
2) The algebraic term 2 x3 y is of ............ degree. 
3) The mode of the values 5 , 3, 1, 3, 5,  and 3 is .............. .
4) Zero ÷ (- 12) =   ................ .
5) 1

2
 =  ................. % .

 2  Choose the correct answer from the given ones:
1) (x - 1) (x2 + x + 1)  =  …….

a) x3 + 1  	 b) x3 - 1	 c) x3 + 3	 d) x2 + 2x
2) 0. 57 = ……. %

a) 57
100   	 b) 75

99
	 c) 575

1000  	 d) 19
33

3) �The  arithmetic mean of the numbers 3, zero, 4, 6 and 7 is ............  
a) 4  	 b) 5	 c) 6	 d) 7

4) The median of the values  2, 6, 8, 4, and 10  is …….
a) 4  	 b) 5	 c) 6	 d) 8

5) ⎮-  7
3

⎮  ……. zero.
a) >  	 b) =	 c) <	 d) ≤

3  (a) Find the sum of : 3 x2 + 2x + 5 and 2x2 - 4x - 3  

(b) Factorize by taking the H. C. F :5xy + 10xz
(c) Divide : 9x3 y2 - 3xy by 3 x y where x y ≠ 0

4  (a) Use the distribution property to find the value of:
 5

11
 ×  9 +  5

11
 × 4 -  5

11
 × 2

(b) Find three rational numbers lying between: 1
3

  , 1
5

 

(c) Divide: x2 - 5x + 6 by (x -3)

5  The following table shows the marks of Mona in mathematics in 5 months:

month. Sept. Oct. Nov. Dec. Jan.
Math. 30 40 35 42 50

(1) Represent the previous data by broken line graph.
(2) Find the difference between the greatest and smallest mark obtained by Mona.
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Cairo Rod El Farag Educational Directorate - Ahd Gedid Language School2
 1  Choose the correct answer:

1) The value of ⎮- 7⎮ + ⎮- 1⎮  =    …….
a) –8  	 b) 6	 c) 8	 d) - 6

2) 0. 57 = …….

a) 57
100   	 b) 75

99
	 c) 575

1000  	 d) 19
33

3) �The  algebraic term 2 ab2 is of ............. degree.  
a) 1st  	 b) 2nd	 c) 3rd	 d) 4th

4) The median of the numbers: 2, 8, 5, 7, 6,  is …….
a) 5  	 b) 7	 c) 8	 d) 6

5) 2
x - 7  ∈ Q if x ≠ …….
a) 7  	 b) 2	 c) 0	 d) -2

2  Complete each of the following:
1) The coefficient of 4 a3 b2 is ................ .
2) The multiplicative inverse of the rational number 3 1

2
 is ............... .

3) The mode of the values 3 , 6, 3, 3, 6, 4, 3 is .................... .
4) The rational number lying at half way between 1

3
 and 3

4
 is  ................ .

5) The arithmetic mean of the numbers: 2, 7, 6, 9, 16, 20 is ................. .
3  (a) Factorize the following by taking H. C. F. : 15 x3 y3 - 20 ×2 y3 - 25 × y

(b) Find the quotient of : 16 a3b2 - 24 a2 b2

4a2b
 where ab ≠ 0

4  (a) Using the properties of the rational numbers, find the value of:
 7
12

 ×  23
45

 +  17
12

 ×  23
45

 - 2 × 23
45

 

(b) Find three rational numbers between: 1
2

  and 1
3

 

(c) Simplify : (2 a - 3) (2 a + 3) + 7, then find the numerical value of the result when a = -1

5  (a) What is the increase of : x2 - 5 x - 1 than 3 x2 - 2 x -3  

(b) Divide: x2 - 8x + 12 by (x -6)

(c) The following table shows the marks of Ali in 5 months:

The month. Sep. Oct. Nov. Dec. Jan.
The mark. 30 40 35 45 50

Represent these data by broken line.
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Cairo El Nozha Educational Administration - El Sayeda Khadija Language School3
1  Choose the correct answer:

1) The rational number which lies between 1
3

  and 2
5

  is =   ................

a) 5
15

   	 b) 7
15

 	 c) 11
30

 	 d) 13
30

 

2) 9
x - 2  ∈ Q if ×  ≠ ................

a) 9 	 b) 2	 c) 0 	 d) -2
3) �The  median of the values: 3, 7, 2, 9, 5 and 11 is  .............   

a) 5  	 b) 6	 c) 7	 d) 12

4) If x + 3
x

 = 7 + 3
7

 then x =  …….

a) 1
7

  	 b) 4
7

	 c) 1	 d) 7

5) ⎮- 3
2

⎮ ……. zero.
a) >  	 b) <	 c) =	 d) ≤

2  Complete each of the following:
1) The coefficient of 5 x3 y is ................ .
2) The mode of the numbers 5, 8, 9, 11, 5 is ............... .
3) The multiplicative  inverse of the rational number 2 1

5
  is ............... .

4) The Arithmetic mean of the values 14, 18, 17 and 15 is  ............... .
5) ⎮- 6⎮- ⎮3⎮ = ............... .

3  a) Use the distributive property to calculate:
 7
12

 × 23
45

 + 17
12

 ×  23
45

  -2 × 23
45

  

(b) Divide: (60x6 - 48 x10 - 12x3) by (- 12x3)
4  a) Factorize by taking the H.C.F. 12 x2 y - 6 x y2

(b) Reduce to the simplest form: (3x -2)2 - (x +2) (x -2)

(c) Divide: 3 x2 - x - 2 by (x - 1)
5  a) Add: 3a -2b + C and 2a + 3b - 5C

(b) from the following table:

Mark. 5 6 7 8 9 10
No. of pupils freq. 3 5 7 9 4 2

1- Represent the data by bar charts.
2- Find the mode mark.
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Cairo El Sharabia Directorate - Talae El Mostakbal. Exp. School4
1  Choose the correct answer:

1) 5
x + 1

 is The rational number if x ≠ .............	 {O , 5 , 1 ,- 1}

2) (3 x +2) (x + 7) = 3 x2 + ........... + 14 	              { 23 x ,19 x , 21 x, 2x}
3) �The  mode of the values: 4, 3, 8, 1, 8 , 3 and 3 is  .............	 { 1 , 8 , 3 , 4}  
4) (4 a2 + 2a) ÷ 2 a  =  …......….	 { 2a +1, 2a, 2a - 1, 1 }
5) the number 0.57 as a rational number in the simplest form is ..........

{ 5
9

 , 19
33

 , 3
7

 , 2
3

 }

2  Complete:
1) The degree of the term  5 x 2y is ........  and its coefficient is ..........
2) The arithm. mean of the these numbers 2, 5, 8, 9, 14, 28  is ............... .
3)  x (a + 1) -y (a+1) = (a + 1) ( ........... -  ..............) .
4) The median of these numbers 12, 13, 8, 2, 10  is ............................... 
5) The multiplicative inverse of the rational number 1 2

3
 is  .............. .

3  a) Add:  5x2 + y2 - 3 x y and x2 -2xy + 3y2

(b) Subtract: 5a - 3b + 6c from 2b + a-5c

(c) Factorize by identifying the H.C.F: 15a3b2 + 6a2b - 3ab
4  a) If x = 1

2
	 , y = -3	 and z = -3

4
Find in the simplest form the numerical value of: ( x ÷ z) × y

(b) Using the property of distribution to get the result of 
2
3

 × 4
7

 + 2
3

 × 5
7

 - 2
3

   

(c) Divide: x2 -5x + 6 by (3 - x)
5  a) Simplify: (2x +1)2 + (1-2x) (1+2x)

(b) This frequency table shows the weight of 30 primary school pupils:

KG. 25 26 27 28 29 30 31 32
Number of pupils 5 8 5 3 5 6 4 4

a) Draw a bar chart for the frequency table data.
b) Identify and write the mode weight of the primary school pupils.
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Cairo DELS - 5
1   Question one :  Choose the correct answer:

1) If x
y

  = 1  then 2x - 2y = .............      		   {4 , 2 , 1 , 0}

2) The degree of - 5 x2y3z is .............. 	             	  { 2 , 3 , 5 , 6}
3) �The  order of median of 7 values is  .............  	 { 3 , 4 , 5 , 6}  

4)   ⎮- 5⎮ - ⎮4⎮  =  …......….	 { -1, 1, -9, 9 }

5) The number between 2
3

 , 3
5

   is ..........	 { 30
45

 , 29
45

 , 18
30

 , 20
30

}

2   Question  two : Complete:
1) The most repeated value is ..........
2) The number  1.25 in the form of a

b
 is ............... .

3)  Subtracting -5 xy from - 3xy =  ................
4) (x + 3)2 = x2 + .................... + 9   .
5) The sum of 5 values if there mean is 5 is  .............. .

3  Question three: 
(a) Find the value of  (2x - 3) (2x + 3) + 9 
(b) Use an arrow to represent the number 7

9
 on the number line.

(c) Find the value of k that makes the expression:
 x3 + x2 + 2x + k is devisable by (x - 3) 

4  Question four:
a) Divide: 9 x2 y + 12xy2 - 15x2y2  by -3 xy where x ,y ≠ 0 
(b) Find the value of (- 3

7
) × 5

6
 - 5

6
 × (- 3

7
)

 5   Question  five : 
(a) Factorize the following by taking H. C. F.: 15 x3y3 - 20 x2 y3 - 25 x3y2

(b) �Ashraf recorded the length of his bus journeys to school for 3 weeks. He wrote 
time to the nearest minute.

15 17 16 17 15 13 22 16 14 25 17 16 18 16 18

a) Identify the median time.
b) Identify the mode time.
(c) Calculate the mean time.
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Giza Omrania Zone - El Sadat Exp-Lang- Directorate 6
Answer the following questions:
1  Choose the correct answer from the given ones:

1) The additive inverse of the number (-2)3 = .............   
(a) 8	 b) -8	 c) 4	 d) 6   		   

2) (x-2)3 = .............. x ≠ 0
(a) x-5	 b) x	 c) x-6	 d) x6   		   

3) �The  probability of the impossible event =  ............. 
(a) 1	 b) φ	 c) -1	 d) zero   		  

 4) Half the number 210 is       …......….
(a) 29	 b) 25	 c) 211	 d) 220   		   

5) 0.0000073 =    ..........

(a) 7.3 × 106	 b) 7.3 × 10-6	 c) 7.3 × 105	 d) 7.3 × 10-5 
2  Complete the following:

1) 16 + 9   = ..........
2) 2, 7, 12 , 17 , ...............  (in the same pattern)
3) ( -2

3
)6 ÷ ( 2

3
)4 =  ................

4) If 3 x = 12    then 2 x = ...........   
5) A fair die is rolled once, then the probability of getting an odd number equals .....   

3  Find each of the following:  

(a) ( 2
5

)2 × 25
4

 × (1 3
4 )0 

(b) Determine 3 ordered pairs satisfying the relation y = 2x + 1, then graph them.
(c) Divide: 6x2 - 13x + 6 by (3x -2). 

4  (a) Find the solution set of each of the following in Q: 
			  1) 2 x - 1 = 7			   2) 3 x + 4 ≥ 10
(b) �Simplify: (7)3 x (-7)4

(7)5  

 5  (a) If x = 2
3  , y = -3

4
 , z = 2

Find the numerical value of x2 y2 + 2z
b) �A box contains 3 red balls, 5 yellow balls and 2 black balls. A ball is drawn 

randomly, find the probability that the drawn ball is.
		 (a) yellow ball.					     b) not black ball.					    c) red ball
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Giza Omrania Directorate - El - Neel Language School7
1  Choose the correct answer:

1) 0.7 = ......... 

a) 7
10

   	 b) 7
9

 	 c) 7
100

 	 d) 7
99

 

2) The multiplicative inverse of the number 1
2

  is .............

a) 1 	 b) -2	 c) 2 	 d) 5
3) �If (x - 3) (x + 3) = x2 - k then k =  .............   

a) 9  	 b) 6	 c) -9	 d) -6
4) The median of values 9 , 7 , 10  is  …….

a) 7 	 b) 10	 c) 9	 d) 3

5) ⎮- 3⎮ + 3 = ……. 
a) zero  	 b) 6	 c) -6	 d) 33

2  Complete each of following:
1) x4 × x2 =  ..........
2) The degree of the algebraic expression 5x2 + 4 =   ............. .
3) (2x + 5)2 = 4x2 + ..... + 25 
4) The rational number which is between 4

11
, 6

11
  is ...............  

5) If a + b = 5 then  3a + 3b =  .......... .
3  a) Add:  2x - 5y + 6z  to 3x + 5y - 2z

(b) Divide: 8 b3 + 12b2 - 4 b  by 4 b
4  a) Using distributive property, find the value of 5

13
 × 8 + 5

13
 × 5

(b) Factorize by taking the H. C. F : 9 x2 - 27 x 

(c) Divide: x3 + x2 + 2x - 16 by (x - 2)
5  a) Find three rational numbers lying between: 1

3
 , 1

2
(b) The following table shows the frequency of marks of 33 students:

Marks 5 6 7 8 9 10
Frequency 4 10 8 6 3 2

1) Represent it with column.
2) Find the mode.
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Alexandria Sunshine Language School 8
1  Complete:

1) The degree of 7 x3y  is = .............      		
2) The multiplicative inverse of the rational number 3 1

2
  is .............. 	             

3) �The mode of the values (17 , 10 , 12 , 17, 10 and x) is 10, then x =  .............  
4)  (2 x + 3) ( ....... + 4) = 6 x2 + ......... + 12
5) - 7

x - 3   ∈ Q , then x ≠  ..........
2   Choose the correct answer:

1) The Arithm. mean of the values 11, 20, 22, 15, 22 is ..........
(a) 18	 b) 15	 c) 22	 d) 90   		   
2) ⎮5 - 7⎮ + 2 =  …......…. .
(a) -2	 b) 4	 c) 0	 d) 2
3)  The number which lies at half way between 1

2
and 7

8
 is  .............

(a) 11
16

	 b) 11
8

	 c) 11
4

	 d) 11
32

4) The median of the numbers 6, 2, 8, 0, 3 and 5 is ............   
(a) 3	 b) 4	 c) 6	 d) 5
5) The increase of (2x -5) than (x - 2) =  .............. 
(a) 3x - 7	 b) x - 3	 c) 3 - x	 d) 2x2 + 10

3  Use the distributive property to find: 

(a)  7
13

 × 11 + 7
13

 × 9 -  7
13

 ×  7 

(b) Add x2 + 5 x y - 5 and -4 x2 + 5 x y + 2
and find the value of the result when x = 2 and y = 1

(c) Divide: x3 + 2x2 - 1 by (x + 1) 
4  Divide:

(a) 16x3y - 12x4 + 4x
4x    where x ≠ 0

(b) Find three rational numbers lying between: 1
3

 , 1
2

 5   Factorize by taking H.C.F : 
(a) 4x2 + 2x + 16 x4

(b) Simplify (x - 5) (x + 5).
(c) The following table shows the marks of Heba in 5 months.
The month. Sep. Oct. Nov. Dec. Jan.
The mark. 30 40 35 45 50

Represent these data by broken line.
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Alexandria El-Orwa Exp. School - Mid Educational Zone9
1   Complete the following:

(a) The mode of the values 23, 33, 23, 33, 23, 21  is .............      		
(b) (x - 2y)2 = .............. 	             
(c) �The multiplicative inverse of ( 1

3
 - 1

2
 ) is .............  

(d)  The degree of the expression (2xy2 - 5xy3 + 4xy) is ..........
(e) If the Arithm. mean of 10 values is 54.5, then the sum of these values = ..........

2   Choose the correct answer:
(a) ⎮3 - 8⎮ + 3 =  …......…. .												            {-2 , 8 , -8 , 2}
(b) The number which lies at half the way between  1

2
and 7

8
 is .. { 11

16
 , 11

8
 , 11

4
 , 11

32
}

(c)  0.57 = .............................	 { 57
100

 , 75
99

  , 575
1000

  , 19
33

 }

(d) The median of the numbers 23 , 33 , 13 , 32 , 22 , 31 is ......	 {22 , 23 , 27 , 32}
(e) If (x -7) (x + 7) = x2 + a, then a =  .............. 					    {14 , -14 , 49 , -49}

3  (a) Use the properties of multiplication and addition to find the value of: 

  8
13

 × 11 + 8
13

 × 9 - 8
13

 ×  7 

(b) Find three rational number lies between 3
4

 and 2
3

  
4   (a) Subtract 5x2 + y2 - 3xy from x2 - 2xy + 3y2

 (b) Factorize by taking out the H.C.F 12 x 5y2 - 15 x3y2 + 3y x2

 (c) Divide: x2 + 10x + 24 by (x + 4) 

 5  (a) Divide: (18x3 y - 12x y2 + 6xy) by 6xy?
 (b) The table shows scores for a class on a 10 points math test.

Scores 5 6 7 8 9 10

Frequency 4 10 8 6 3 2

Find
i) The number of students whose score less than 8 ?
ii) the median of the score ?
iii) the mode of the score?
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Qalubia Kafr Shokr Directorate10

Answer the following questions:
1   Choose the correct answer:

(a)  If 7
a - 4

 rational number then a ≠  …....….					    {7 or 4 or - 4 or zero} 
(b) ⎮ - 5⎮ + 5 =   ........ 										          {zero or 10 or 55 or 25}

(c)  The mode of the numbers 6, 8, 8, 5, 6, 8 and 7 is  ..........    {5 or 6 or 7 or 8}

(d) If x
y

 = 1, then 2 x - 2 y =   .......... 								        {zero or 1 or 2 or -4}
(e) Write the number 0.18 in the form of a

b
 =  .............. 

		 { 18
10

 or 2
11

 or 18
100

 or 99
18

 }

2   Complete:

(a) ( -2
3

 )0 + 4 = .............      		
(b) The additive inverse of the number ( -3

 5
)  is .............. 	             

(c) �The median of the values 7 , 4 , 5, 2 and 9  is .............  

(d)  The degree of the algebraic term - 7  is ..........
(e) If 2

 3
 x  = 1 then x = ..........

3  (a) Factorize by identifying the H.C.F 15 a 3b4 + 6 a5 b2 - 3 a2 b2 

(b) Find the rational number in half-way between the numbers 1
3

 and 4
5

. 

(c) Divide: (64 x3 - 32 x2 + 8 x) by 8 x  
4   (a) Add: -7 a -5 b + 9 c and 2 c - 4 a + 3 b

 (b) Find the total area of the cube its volume 27 cm3.
 (c) if A = 3

4
 and B = -5

 2
  Then find the value of A - B

A + B  

 5  (a) Find the mean of the values 2 , 5, 8 , 9, 14 and 28
 (b) Divide: x4 - 16 by (x2 + 4)

(c) The table shows scores for a classroom a 10 point math test.

Scores 4 5 7 8 9 10

Frequency 6 5 13 7 4 2

1) Represent these data by broken line graph.
2) what is the mode of the score.



141http://www.aladwaa.com لمزيد من التدريبات والأ�سئلة زوروا موقعنا

Menofia Educational Shebeen Elkom Directorate11

1   Choose the correct answer:

1) The value of  ⎮- 7⎮ + ⎮- 1⎮ =   .......... = 	 (-8 ,   6  ,   8 ,  -6 )
2) (35 x5 + 7x2) ÷ 7x2 = .............  	                       (5x3 + x   ,   5x3 +1   ,  5x7 + 1  ,  5x3 )            

3) �The algebraic, term 2ab2 is of .... degree                          (1st ,   2nd  , 3rd , 4th )  
4)  The median of the numbers: 2, 8, 5, 7, 6 is ......... 	       (5   ,  7 ,   8 ,  6)

5) The mean of the number: 2, 7, 6, 9, 16, 20 is  ..........                ( 6  ,   10   ,  9   ,  11)

2   Complete:

1- (x + 3) ( x - 3) = x2 –.........      		
2- The multiplicative inverse of the number -2

 3
  is .............. 	             

3- �3a2 × -2a3 = .............  

4-  The mode of the values 4, 8, 6, 4, 4, 8  is ..........
5-  The rational number in half way between 3

5
 , 4

5
 is ..........

3  (a) Subtract: 5x2 + y2 - 3xy from  x2 - 2 xy + 3y2  

(b) Divide:  14 x3 - 21 x2 + 7x by 7x where x ≠ 0  

(c) Add: 2x- 7 y + z  and  5z + 6y - 2x  
4   (a) Use the destructive property to find:

8
 13

  × 11 + 8
 13

  × 9 - 8
 13

 × 7

 (b) Simplify (x + 3) (x + 5)
 (c) if a + b = 3 then 5 a + 5b = ...........  

 5  (a) Find: 3
 5

  ÷ 9
 15

 (b) Divide: x2 - x - 72 by (x- 9) 

(c) Represent these data by using broken line:

The month Sep Oct Nov Dec Jan

The mark 30 40 35 45 50



142 https://www.facebook.com/aladwaa �شارك بتعليقاتك على

Gharbia Samannoud Educational Directorate- Samannoud Experimental Language School12

Answer the following questions:
1   Choose the correct answer in brackets:

1)  If ⎮x⎮ = 9, then x =  …....….					   
(a) -9	 b) ±9	 c) 3	 d) 9   		   

2)  (5)-1  =   ........... 		

(a) -5	 b)- 1
5

	 c) 1
5

	 d) 5   		   
3) The mean of the values 2, 5, 8, and 9 is ..........

(a) 6	 b) 18	 c) 9	 d) 11   		   

4) The ordered pair ......... satisfies the relation:   y = x + 2
(a) (1 , 3)	 b) (3, 2)	 c) (1, 2)	 d) (-2, 4)		  

5)  The multiplicative inverse of the number ........ is itself   

(a) -1	 b) 0	 c) 2	 d) 3   		   
2   Complete each of the following:

(a) (x + 5) (x + .........) = x2 + ..... + 15       		
(b) The standard form of the number 290000 is .............. 	             
(c) �(20 - 1) (20 + 1) = 400 -  .............  

(d)  If x < y, z < zero , then xz ..........yz
(e) If the age of Ahmed now is x years, then his age after four years = ...... years

3  Find the solution set of each of the following: 
(a) x + 13 = 14		  , x ∈ Q 

(b) 1 ≤ x - 5			   , x ∈ Q  

4   (a) Simplify and find the value of: × 81
16

 × ( 2
3 )3 × ( 5

7 )0

 (b) Use the distribution property to find the value of: 7
 15

 × 4 + 7
 15

 × 11
 (c) Find the value of k that makes the expression: 

6x3 - 13x2 - 13x + k is divisible by (3x - 5)   
 5  (a) The following table shows the distribution of marks for 30 students in an Exam.

Marks 4 5 7 8 9 10 Sum

Frequency 6 7 3 7 4 3 30

Represent the data by a broken line.
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(b) 6 cards numberd from 1 to 6. One card is selected randomly.
Write the sample space, then find the probability of each of the following events:

1) A = getting a prime number.
2) B = getting a number smaller than 3.

Dakahlia M . L S13

1   Complete:
(a) The multiplicative identity element in Q is = ..........      	
(b) ⎮-2 1

2
⎮- ⎮2 1

2
⎮= .............. 	             

(c) �The degree of the algebraic term 5 x y2 is ............  
(d)  If a + 2b = 5, c = 2 then the value of a + 2(b+c) = ..........
(e) The mode for the numbers 6, 2, 5, 4, 6, 3 is = ..........

2   Choose the correct answer:
(a)  3x2 × 4x2  =  …....….									        (7x , 7x2, 12x4 , 12x2 )			 

(b) 0.57 = .............. 	             ( 57
100

 ، 75
1000

 ، 57
999

 ، 19
33

)

(c) �If  (x - 6) (x + 6) = x2 + k.  Then k = ..........       (36, -36, 12, -12)
(d) 5

x- 2
 ∈ Q If x ≠ .............		  (7, 2, 0, -2)

(e) The area of rectangle of length 3 xy and width 2 y is .........

(5 xy , 6 x2y, 6xy2 , 10 xy)

 3  (a)Add: (5x + 2y - 1) and (2x - 5y - 3)

(b) Use the distribution property to find: 6 × 5
17 + 10 × 5

17 + 5
17   

(c) Find the value of k that makes the expression: 

x3 - 3x2 - 25x + k is devisable by (x2 + 4x + 3)
4   (a) Find the quotient of: 24a3 + 9a2 - 3a

3a
 , ( a ≠ 0)

 (b) Find two rational numbers between 1
 3

 and 3
 4

 
 5  (a) If x = 2

3
 , y = –3

4
 , z = 2 find the numerical value of: xy ÷ z

(b) The following table shows the marks of Ahmed in mathematics in 5 months:

Month. Sep. Oct. Nov. Dec. Jan.
Marks. 30 40 35 45 50

Calculate Ahmed's mean marks in 5 months.
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Behera Rasheed Education Zone - Rosetta Language School14

1   Complete:
(a) The degree of algebraic term ( 5 x 2y) is ..........      	

(b) 2
8 

 + -5
8

 = .............. 	             

(c) �The mean of 2, 5, 8, 9, is ............  

(d)  (x - 5) ( x + 5) = ..........

(e) If ⎮y⎮ = 10, then y = .................. or ..........

2   Choose the correct answer:
(a)  The median of the numbers 8, 17 , 4 , 6 and 10 is .......  	    (11, 10, 6, 8)		

(b) -15 ab4 ÷ 5 ab3   = ..............  Where ab ≠ 0	   (3b, -3b, -3ab, 3ab)       

(c) �The mode of the numbers 2, 5, 7, 6, 4  and 6 is .........         (5, 6, 7, 2)

(d) 0.5 in the form a
b   is = .............		  ( 4

9  , 5
9  , 7

9  , 8
9  )

(e) The number that has no multiplicative inverse is ......... 	  (1, -1, 0, 2)

 3  (a) using distributive property to find the value of: 
-3
 7

 × 8 + 5 × -3
 7

  + -3
 7

   

(b) Add: 3y2 + 2xy - 5 to - 2x2 - 3xy + 3   

(c) Divide: 3x2 - 4y - 20 by (y + 2) 

4   (a) If a = 3
4   , b = -5

2   Find in the simplest form the numerical value of: a - b
 a + b

 (b) Factorize by identifying the H.C.F:	  12 a2 b + 18 a3 b2 
 5  (a) Simplify : (x - z)2 - 4

(b) The following table shows the marks of Ali in 5 months:

The month. Sep. Oct. Nov. Dec. Jan.
The marks. 30 40 35 45 50

Represent these data by broken line.
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Port Said Educational Directorate - South Education Administration15

1   Choose the correct answer:
1)  x3 × x2 =   …....….					      

a) x6		    		  b) x				    c) x3					     d) x5 								     

2)  If x
y

 = 2
3

 then 3x
2y

 = .........

a) 1
3  		   		  b) 2

3  				    c) 1					     d) 3
2   	

3) Express 5
11  as a decimal 	

a) 0.45 		    		  b) 0.454 				    c) 0.45					     d) 0.045  	
4) The Algebraic term 2x3 has ........... factors   

a) 2 		    		  b) 3 				    c) 4					     d) 5  	
5) The mean of these numbers 7, 4, 9, 2, 8 is ...........    

a) 5 		    		  b) 4 				    c) 8					     d) 6  	
 2   Complete:

(a) The mode of these numbers 4, 5, 3, 4, 6, 5, 4 is .........        	

(b) 18 a2 ÷ 3 a = .............. 	             

(c) �35  × 2
7   = ............  

(d)  The median of these numbers 28, 31, 34, 36, 41 is ..........

(e) �37  ×  ............ = 1

 3  (a) Simplify: (4x + 1) (2x + 3)   

(b) Factorize by identifying the H.C.F  4m2 (2x +y) -3m (2x +y) -7(2x + y)   

4   (a) Identify and write five rational numbers between 3
5  , 4

5
 (b) Find the sum of (3x - 2y +5) and (x + 2y - 2)

(c) Divide: 5x - x2 + 6 by (x - 6)
 5  (a) �If water flows through a pipe at the rate of 2 1

2  litres per minute, how many 
minutes will it take to fill three 20- litre containers?

(b) The frequency table shows the weights of 40 pupils.

Weights (kg) 30 35 40 45
Number of pupils 8 9 13 10

Draw a bar chart for the frequency table data.
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Suez  South Educational Zone - Futures Languages School16

Answer the following questions:
1   Choose the correct answer:

1)  If : (x + 5) (x - 5)  =  x2 + k, then k = …....….					      
a) 5		    		  b) -5				    c) 10					    d) -25 								      

2)  The mode of 4 , 5 , 10 , 4 and 7 is .........

a) 5 		    		  b) 10				   c) 4					     d) 7  	

3) If: x
y  = 2

3  , then 3x
2y

 =  ........... 	

a)  1
3  		    		  b)  2

3  				    c)  3
2 					    d)  1  	

4) The rational number that lies at half way between: 1
3  and  5

6  is .........   

a)  2
3  		    		  b)  7

12 				    c)  1
2 					    d)  2

7   	
5) (4x - 3) (x - 4) = ...........    

a) 4x2 - 19x-12 		    	 b) 4x2 - 7 				    c) 4x2- 12		  d) 4x2 - 19x + 12 
 2   Complete each of the following:

1) The number which it's additive inverse is itself is .........        	

2) If: �35  × x = 1, then x = .............. 	             

3) The degree of 4 x3y4 is  ............  

4)  The additive inverse of 1
 ⎮-5⎮

 is ..........

5) If the mean of : x - 3, x, x + 3 is 6, then the value of x is .......... 

 3  (a) Simplify: �(2a -3b)2 - 3 (2a - b) (2a + b), then find the numerical value of the 
result if a = -1 and b = -2   

(b) Use the distributive property to find the value of: 3
13

 × 4 - 3
13

 × 3 - 3
 13

    

(c) Divide: 8x2 -7 x - 18 by (x - 2) 
4   (a) Factorize : 12x3 - 6x2 + 3x 

 (b) Multiply : (2x + 5) × (2x - 5)

(c) Divide: 27x2y4 - 15x3y3 + 9x2y2 by 3x2y2 where xy ≠ 0
 5  (a) �If : a = -1

3
, b = 3

2
 , c = 2 find: a + b - c.  

(b) The table shows the scores of one class in math quiz of maximum 10 scores: 
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Marks 5 6 7 8 9 10

Frequency 2 7 6 4 4 3

Represent the data using bar line graph.

Fayoum Fayoum East Directorate - Islamic Language School- Nafessa El-Hussary17

Answer the following questions:
1   Choose the correct answer:

1)  3
4  = ........... % 					      

a) 25		   		  b) 50				   c) 75					    d) 100 								      
2)  (-8 y 5) × (-7 y4) = .........

a) -15 y 		   		  b) 56y9				    c) -56y9					     d) 56y  	

3) The median of the numbers 3, 8, 6, 6, 10, 2 is  ........... 	

a) 6 		    		  b) 7 				    c)  8					     d)  10  	

4) If: 5
x -3

 ∈ Q then x ≠ .........   

a) 5 		    		  b) 7 				    c) 2					     d)  3  	
5) (x2 + x) ÷ x = .......... where x ≠ 0     

a) 0 		    		  b) x 				    c) 2x +1				   d) x +1
 2   Complete the following:

a) The additive inverse of zero is .........        	
2) the mode of the values 3, 6, 19, 10, 13, 6, 19, 21, 6 is ..........  	             

3) (x + 2) (x + 3) = x2 + .......... + 6    

4) ⎮-5⎮- ⎮-2⎮ = .............

5) The mean of 2, 5, 8, 9 is ...........

 3  (a) Find three rational numbers lying between 1
3  and 3

2 : 
 (b) Subtract: 3x - 5y + 2z from y - 4z + 3x   
 (c) Divide: Find the value of k that makes the expression:

x3 + x2 + 2x + k is divisible by (x - 1) 
4  (a) factorize by taking out H.C.F: 10 × y2 - 5 x2 y

(b) Use the distributive property to find:  8
13

 × 11 + 8
13

 × 9 - 8
13

 × 7

5  (a) �find the quotient of dividing:  6x3 - 12x2 + 24 x by 6 x where x ≠ 0.  
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(b) The following table shows the marks of Mohammed in math in 5 months:

Month. Sep. Oct. Nov. Dec. Jan.
Marks. 45 35 45 40 50

Represent the previous data by broken line graph.

Beni Suef  Nasser Directorate - Nasser Exp - Language School18

Answer the following questions:
 1   Complete each of the following:

1) 3
7  ×  ........... = 1         	

2) (x + 5) (x + ........) = x2 + ......... + 15  	            

3) The mean of these numbers 2, 5, 8 and 9 is  ............  

4)  2
5  <  .......... < 3

5
5) The algebraic expression 4x3 - xy + 5 is of the .......... degree.

2   Choose the correct answer:
a)  By using calculator 0.581  = .....

..... 							       ( 32
55

 , 581
1000

 , 581
100

, 5 81
100

)

b)  The algebraic term 2x3 has ...... factors.					     (2, 3, 4, 5)
c) The mode of the numbers 3, 6, 10, 13, 19, 21, 19 is  ........... 	 (21, 19, 13, 10)

d) If x = 4
3  then (x-2) (x+2) equal .................	 ( 4

9
 , 12

9
 , 10

9
, - 20

9
)

e) The cube of the sum of A and B is ...........	 (A3 + B3, (A + B)3, A3 B3, 3A + 3B)
 3  (a) Without using calculator find the value of: 

 4
9  × 11 + 4

9  × 16 

(b) What is the increase of x2 - 5x -1 than 3x2 + 2x - 3    

4  (a) Find the rational number in half way between 3
8  and 4

9
(b) Simplify: 2 x (x + 5) + x (6-x) then calculate the numerical value when x = 2) 

(c) Divide: 4x2 -10 x + 12 by (2x - 4) 
5  (a) Find the quotient of: 60 x6 - 48x10 - 12x3

12x3

(b) Scores in a frequency distribution are arranged in order. 

score 5 6 7 8 9 10 11 12
frequency 2 7 6 4 4 3 2 1

1- Find the median of the scores.
2- Find the mode of the scores.   
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Minia Minia Educational Zone - M. L. S.19
1   Choose the correct answer:

1) (x2 + x) ÷ x = .............								        (0, x, 2x + 1,  x + 1)				    

2) The mean of these numbers 2, 5, 8, 9 is ...........  (6, 8, 9, 11)

3) 3a4 b × 5a2 b2 × 2a3 =   ........... 					     (60a11 b3 , 30a2 b2 , 30a9 b3)
4) The rational number 0.57 in simplest form is  .............. 

  																                ( 57
100

 , 75
99

	, 575
1000

,  19
33

)

5) If a x b
2  = a

2   , then b = ........... 				    ( a
2   , 0 , a, 1)   

 2   Complete:
1) (x + 5) ( x + .........) = x2 + ............ + 15        	

2) 0 ÷ (- 14) = .................  	             

3) If ⎮x⎮ = 7		  x = ......... or  ............  

4)  The mode of these numbers  3, 6, 10, 19, 19, 21 is ..........

5) The multiplicative inverse of 2
3  is .............

 3  (a) Write the product: 	 (x + 4) (3x + 2)

(b) If x =  3
2   , y = 1

4  , z = -2  then find the numerical value of x - y ÷ z

(c) Divide: 10x2 -70 x + 120 by (5x - 15) 

4  (a) Find the quotient:  16a3 b2 - 24a2 b2

4a2

(b) Simplify: 3x - 5y - x + 2y. 

5  (a) Find the sum: (3x - 2y + 5) and (x + 2y - 2)

(b) Subtract:  2x + 6y - 7 from  3x - 5y + 2
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Sohag Tema Educational Zone - Tema Exp. School.20

Answer the following questions:
1   Choose the correct answer:

1) The mode of 4, 5, 10, 4 and 7 is ..............					      
a) 5		    		  b) 10				   c) 4					     d) 7 								      

2)  The degree of the Algebraic term 2 × y is .......... degree

a) first 		    		  b) second				    c) third					     d) fourth  	

3) The value of⎮-7⎮ + ⎮1⎮  =  ........... 	

a) -8 		   		  b) 8 				    c)  6					     d)  -6  	

4) If x = 2 then 3 x = .........   

a) 6 		    		  b) 4 				    c) 5					     d)  9  	

5) If ⎮k⎮ = 7 , then k ................     

a) 7 		    		  b) ± 7 				    c) -7				    d) otherwise
 2   Complete  each  of the following:

a) The multiplicative inverse of 1
3  is .........        	

2) The mean of the values 3, 4, 5 and 6 is ..........  	             

3) (2 ×- 3) (3 × + 5) = 6 x2 + .......... -15    

4) The coefficient of - 3 × y 2 is  .............

5) 1
x - 3  ∈ Q , then x ≠ 

 3  (a) Divide: (64 × 5 - 48 ×3 + 8 ×2) by 8 ×2 where × ≠ 0  
 (b) use the distributive 8

13
 × 11 + 8

13
 × 9 - 8

13
× 7   

 (c) Divide: x3 – 25x by (x + 5) 
4  (a) find three rational numbers between 3

2  and 1
3    

(b) Subtract: x + x2 - 5 from 2 x 2 + x -5 then the value of result when x = s

5  (a) �The following table shows the weights of 25 pupils of first prep   

Weight in kg 32 33 34 35 36 37 38

No. of pupils 1 3 4 8 4 3 2

Represent this data using the bar line graph, then find the mode.
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